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Question Number : 1 Question Id : 8135611 Question Type : MCQ Display Question Number :
Yes Is Question Mandatory : No Single Line Question Option : No Option Orientation :

Vertical

e |
J. - gy ==
X2

Options:

1 ) .
x + loglx| + Elﬂg(_xz +1)4+Sin"H(x) +¢c

1. #

: B ]
x —log|x] +=log(x® + 1) — Sin " (x) + ¢
2. ® 2

1 :
x + log|x| — Elng{ﬁ:z + 1)+ Tan }(x) + ¢
3. %

1 .
x —loglx] + =log(x? + 1) — Tan (x) + ¢
4. ¢ Z
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Question Number : 2 Question Id : 8135612 Question Type : MCQ Display Question Number :
Yes Is Question Mandatory : No Single Line Question Option : No Option Orientation :

Vertical

The values of x at the stationary points of f(x) = x% + 3x% — 2 are

() =x% 4+ 3x% — 2 9000 Joeadd DotPo S x Dewden

Options:
1 % 0, 2

Question Number : 3 Question Id : 8135613 Question Type : MCQ Display Question Number :
Yes Is Question Mandatory : No Single Line Question Option : No Option Orientation :

Vertical

The perimeter of AABC is 36 cm and its wn-radius is 8 em. Then the area of the triangle 15

ABC dzaa0n% tﬁJ%)ng v 36 cm 0Bai T BodddyS Fsﬁ“go 8 cm. oA, e
SR TV Dodh?

Options :

2
1 144 em

124 em?
2. %
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164 cm?
3_ W

2
4 % 104 em

Question Number : 4 Question Id : 8135614 Question Type : MCQ Display Question Number :
Yes Is Question Mandatory : No Single Line Question Option : No Option Orientation :

Vertical

Find the domain of the real valued function £(x) = ([x]> — [x] — 2) "2, where [ .] is the

greatest mteger function

[x] 83086 x ding) (6% rTed Hvanswdy Ardy f(x) = ([’ - ] - 2) /2

elak: 0y
Options:
1. %
R—[=1.3
, o FB=1=5H3)

L x B=13)

R —[-1,3]

Question Number : 5 Question Id : 8135615 Question Type : MCQ Display Question Number :
Yes Is Question Mandatory : No Single Line Question Option : No Option Orientation :

Vertical
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Find the value of ‘k’. if the angle between the straight lines represented by 2x% + 5xy +

3y +6x+ 7y +4=0is Tan (k)
26 4 5xy + 3y 4 6x + 7y + 4 = 0 2D 2rdodd v 6§ Seastoo Tan™ (k)
00, ‘k’ Dens) dod?

Options :

(1f5) only

, (1/5) oz

) only

9 |

(7Y
(Y

) SR

9 |

2. %

|-
r_r.l._-.

Question Number : 6 Question Id : 8135616 Question Type : MCQ Display Question Number :
Yes Is Question Mandatory : No Single Line Question Option : No Option Orientation :

Vertical

The roots of the equation |[x? — x — 6] = x + 2 are

|22 — x — 6] = x + 2 PDdeazn CB0E), TR BeVIDAW.
Options :

L% —2, 1,4
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, % 0,2 4
;%0 1,4
L2 24

Question Number : 7 Question Id : 8135617 Question Type : MCQ Display Question Number :
Yes Is Question Mandatory : No Single Line Question Option : No Option Orientation :
Vertical

Let a, b, ¢ be real numbers. A set formed with a, b, c whose order of occurrence is
preassigned 1s called

a,b, ¢ R Ddoen wowd, a,b,c © 8 £PER HES T AV 00T

AoBotseit &) &) 2900 €3 DDA oA,
® 4 e

Options :
An ordered triad

| o 8209880

An ordered pair

S0ai0) B0
2. %

Both ordered triad and ordered pair
. S08sa0 DoBain S00K0M),00

None of these options are correct

4w D BT VOIS 57
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Question Number : 8 Question Id : 8135618 Question Type : MCQ Display Question Number :
Yes Is Question Mandatory : No Single Line Question Option : No Option Orientation :

Vertical

If 3f(x)—2f G) = x .then f'(2) is

3fx)—2f G) = x ®@owd, f'(2) =

Options :

—
#
M|=~.|

l'-."ll—1L

xll[‘-.‘l

Question Number : 9 Question Id : 8135619 Question Type : MCQ Display Question Number :
Yes Is Question Mandatory : No Single Line Question Option : No Option Orientation :
Vertical

2

e

dx
f x(1+logx)2

1

Options:
2

1. 3
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1
2. % 3
3. % <
4 % log2

Question Number : 10 Question Id : 81356110 Question Type : MCQ Display Question Number
: Yes Is Question Mandatory : No Single Line Question Option : No Option Orientation :

Vertical

5
. . X 1 a2
The constant term in the expansion of (E Ty 2) & then a =
X

5
1 . 2
G =g \/E) Dy0eaes” 0000 %_ 200, a Jewd
x
Options :
1. = 7

5 % 69

Question Number : 11 Question Id : 81356111 Question Type : MCQ Display Question Number
: Yes Is Question Mandatory : No Single Line Question Option : No Option Orientation :

Vertical

AP EAMCET 2020



AP EAMCET 2020
T

cos?(x) + cos? (x + 3) + cos? (x —g) =

Options :
3

1.« 2

Question Number : 12 Question Id : 81356112 Question Type : MCQ Display Question Number
: Yes Is Question Mandatory : No Single Line Question Option : No Option Orientation:

Vertical

If one end of diameter of the circle x% + y% — 4x — 6y + 11 = 015 (3,4). then the other end

of the diameter 1s

Yy -y -6y +11=0 3508 as T2 A0S, 28 €% Dot (earddw) (3,4)

9000 Totad 5@ Dothned) AErasen SR WA ?

Options:
% (0,1)

2. % (1.1)

5 o ELES

AP EAMCET 2020



AP EAMCET 2020

(1,0)

Question Number : 13 Question Id : 81356113 Question Type : MCQ Display Question Number
: Yes Is Question Mandatory : No Single Line Question Option : No Option Orientation :
Vertical

cos48° .cos12° =

Options :

(3-v5)

1. % B

(3 + VE)
2 4

(+V3)
3 ® 2

(3 + V5)
4.9 8

Question Number : 14 Question Id : 81356114 Question Type : MCQ Display Question Number
: Yes Is Question Mandatory : No Single Line Question Option : No Option Orientation :

Vertical

If sin(8) + cosec(@) = 2 . then sin®"2%(8) + cosec???%(8) =

sin(f) + cosec(8) = 2 ®ond. sin**?°(8) + cosec???°(9) =

Options :
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2020
2

2019
. 2020.2

2019
2

Question Number : 15 Question Id : 81356115 Question Type : MCQ Display Question Number
: Yes Is Question Mandatory : No Single Line Question Option : No Option Orientation :

Vertical

Assuming |x| to be so small. that x? and higher powers of x can be neglected, then
Vit +(1-x)32

(1+x) +V1+x

i+ -2

(1+x) +1+x

e x ArTren &£ 0t 0d [x| Dend DEHIS.

Options :
s
1k —
1. % *
%
l__
2.¢ -
l-l—dkx
3. % 2
4x
]_—_
4, % 5
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Question Number : 16 Question Id : 81356116 Question Type : MCQ Display Question Number
: Yes Is Question Mandatory : No Single Line Question Option : No Option Orientation:

Vertical

How many bijections f:Z — T are there such that f(x + v) = f(x) + f(y) forall x,y € 7?

frE—T &80 flx+y)=F(x)+f(y) 1,y €L doDHiddam Féowd aqoe
2200A00 N3

Options :
One
2,88

Two
Cotad

Three
AT

Infinitely many
e9R0eH000

Question Number : 17 Question Id : 81356117 Question Type : MCQ Display Question Number
: Yes Is Question Mandatory : No Single Line Question Option : No Option Orientation :

Vertical
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The matrix 4 = e 18

V2

i

|
N

11
= B
V2 o

P
sl

Options :
Unitary

| % D& Sos

Orthogonal

5 x Lo

Nilpotent

3 o &R

Involutory

o @égwéeaﬁ

Question Number : 18 Question Id : 81356118 Question Type : MCQ Display Question Number
: Yes Is Question Mandatory : No Single Line Question Option : No Option Orientation :

Vertical

The length of the latus rectum of the parabola 169{(x — 1)* + (v —3)?} =
(5x— 12y + 17)% is

169{(x — 1)% + (y — 3)?} = (5x — 12y 4 17)? Sor5008r8 T woadw JE)

Options :
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14
x 13

12
13

28
13

Question Number : 19 Question Id : 81356119 Question Type : MCQ Display Question Number
: Yes Is Question Mandatory : No Single Line Question Option : No Option Orientation :

Vertical

E 1 . .
If tanh(x) = ) then tanh(3x) is

3
tanh(x) = F €900 tanh(3x) Dewd

Options :
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Question Number : 20 Question Id : 81356120 Question Type : MCQ Display Question Number
: Yes Is Question Mandatory : No Single Line Question Option : No Option Orientation :

Vertical

A square 1s formed by the lines x =0, y =0, x = 1, y = 1. Then the equations of its
diagonals will be

1=0,y=0 x=1 y=108208 w8 S350 Dc&bdé, ) ST0 HEBETeD —

Options:
I A x+y=2
1
2y =x, x+y=—
2. % 2
v=x, x+ty=1
3.¢ ¢ kD
2 3 -
y=2x, x+y=—
4, % t

Question Number : 21 Question Id : 81356121 Question Type : MCQ Display Question Number
: Yes Is Question Mandatory : No Single Line Question Option : No Option Orientation :

Vertical

The equation of a circle with centre (5, 4) and touch the y-axis is

Y-y DT (5,4) SoB200rr (L S8 DASCRID

Options :
AP EAMCET 2020
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- x24+y2—10x—8y—16=0

- x24+y2—10x—8y—61=0

. x2+y2+10x+8y+16=10

4_¢,xz+y?—10x—8y+16=0

Question Number : 22 Question Id : 81356122 Question Type : MCQ Display Question Number
: Yes Is Question Mandatory : No Single Line Question Option : No Option Orientation :
Vertical

Let X be a random variable such that X(x) 1s the numbes of heads in X for each x € S, where
§ 1s the sample space of random experiment of tossing three fair coms simultaneously. Find

the value of P(X 4 (:2))

AP TEAVOA D8 50AS° IS DHIV)E Tone 8368 S X:5 = R & X(v) =
29 ¥ €5 % 0E &3]0 Dopy oY P(X7(2)) deod

Options :
3

1.+ B

CCIlI—i mlm

-l‘-‘~|r..u
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Question Number : 23 Question Id : 81356123 Question Type : MCQ Display Question Number

: Yes Is Question Mandatory : No Single Line Question Option : No Option Orientation:
Vertical

If p and q are lengths of the perpendiculars from origin to the lines x sec(f) + v cosec(f) =
k and x cos(fl) — v sin(f) = k cos(20) respectively. then

xsec(f) + ycosec(f) = k Sobaiw x cos(f) — ysin(f) = k cos(26) Gaww
2rodotid) Aot (L AFrTLY HEAT P, g L0 OV

Options :

- p? + 4q2 = k2

2'¢4p2+q2:k2

3. % PE‘E'Q'z:q’kE

433}:,2_{_{?2:;{2

Question Number : 24 Question Id : 81356124 Question Type : MCQ Display Question Number

: Yes Is Question Mandatory : No Single Line Question Option : No Option Orientation:
Vertical

If x2+ y?+ 6x+ 2ky + 25 = 0 to touch y-axis. then k =

X%+ y% 4 6x + 2ky + 25 = 0 )32 y-0omd) DI k =

Options :
1. % +20
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Question Number : 25 Question Id : 81356125 Question Type : MCQ Display Question Number
: Yes Is Question Mandatory : No Single Line Question Option : No Option Orientation :

Vertical

Find the number of ways of selecting 4 pens and 3 pencils from a packet of § pens and 5
pencils,

8 swanen Sdodn 5 b:)b'?;’oa o w8 5%2 Aok 4 Svd0en Sdodw 3 ::,:Jggm amﬁa
DR Rog)

Options :

| 700

Question Number : 26 Question Id : 81356126 Question Type : MCQ Display Question Number
: Yes Is Question Mandatory : No Single Line Question Option : No Option Orientation :

Vertical
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20080 208

x3—3x+2

Options :
Proper fraction

S e‘,’.)aﬁ;l;ﬁp

1. %

Improper fraction
5 e9 850 e:}.:ﬁcl:m

Mixed fraction

| 0B DRy Sw
3. %

Not a fraction

4 % i)mlm =oC

Question Number : 27 Question Id : 81356127 Question Type : MCQ Display Question Number
: Yes Is Question Mandatory : No Single Line Question Option : No Option Orientation :

Vertical

In how many ways one can send 6 new-year greeting cards to 4 people?

£ R0oIB0 HULFET0LL) B SR 6 &éﬁlﬁ). T 4 DG VD D)
DAV ﬁo:}btﬁ)tsm

Options:
1. ¢ 360

, % 180
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3 % 720

4% 90

Question Number : 28 Question Id : 81356128 Question Type : MCQ Display Question Number
: Yes Is Question Mandatory : No Single Line Question Option : No Option Orientation :
Vertical

oy s

- for x € R. then

If [a, b] 1s the range of the function
i 2x2+3x+6

x+2

x€eER, —m—————
2x2+3x+6

sy, T°§= [a, b] wowd

Options :

Question Number : 29 Question Id : 81356129 Question Type : MCQ Display Question Number
: Yes Is Question Mandatory : No Single Line Question Option : No Option Orientation :

Vertical
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The point on the circle x2 + y? = 4 whose distance from the line 4x + 3y — 12 = 0 is
4/5 units 1s equal to
-
4x + 3y — 12 = 0 H6¥0 Aodt ey Brded” gotar, X2+ y% =4 Hydod ol
Do)

Options :

(%)
| % 25 7 25
, % (4,0)
5 v (2,0)

(—14 48)
4 % 25 725

Question Number : 30 Question Id : 81356130 Question Type : MCQ Display Question Number
: Yes Is Question Mandatory : No Single Line Question Option : No Option Orientation :

Vertical

Let a, b and c be the lengths of the sides of a triangle with its opposite angles 4, B and C

c(a+h)+(a®+b?)
(b+c)(cta)

respectively. If £C = 60°. then the value of

SZ208° 20w TENHW a,b, c. 8 HRAVVL AR Ers000 ST

c(a+b)+(a®+h?)
(b+c)(c+a)

A,B,C o 080in £C = 60° eanw,

Options :
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Question Number : 31 Question Id : 81356131 Question Type : MCQ Display Question Number
: Yes Is Question Mandatory : No Single Line Question Option : No Option Orientation:

Vertical

If f(x) is a polynomial of the second degree in x such that £(0) = f(1) = 3f(2) = —3. then

fo
ng 3 dx
f(x) 28 25 S6rS P wow. f(0) = f(1) =3f(2) = -3 womé.f E(x)l dx =
Y3
Options:
e g | ) ! —1 {2x+1
. lng( = ) NG Tan ( = ) c
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Question Number : 32 Question Id : 81356132 Question Type : MCQ Display Question Number
: Yes Is Question Mandatory : No Single Line Question Option : No Option Orientation:

Vertical

If x € R, then one of the solutions of Vx4 1 — |\.-"'x = 1| = y4x — 1 among the following is

€ R 0and, 806398 Vr + 1 - [Vr— 1| = Vir - 1 © 28 3¢

Options :
5
e S
1.¢ 4
—5
=
2. #
3 % X —={)
4% ¥=1

Question Number : 33 Question Id : 81356133 Question Type : MCQ Display Question Number
: Yes Is Question Mandatory : No Single Line Question Option : No Option Orientation :

Vertical

AP EAMCET 2020
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Letp ,qg and7 besuchthat¥ £0, p X§ =7, § X7 =p then

(1) D,q,r are pair-wise orthogonal vectors

#0080 p X7 =7, {TxF:ﬁwoﬁ%wﬁ,J,Fm&s%m'a&!}émm
(1) p,q,7 08 DA Bok VL)AL GotTaN
@ lgl=F1=Izl

Options :

(1) 1s correct. (11) 1s Incorrect
- (1) RS0, (11) R 0D

(1) 1s incorrect, (1) is correct
, (1) €9 300 (11) RSB0

Both (i) and (11) are incorrect

2 % (1) B3 (11) e aﬁw&w

Both (1) and (11) are correct
(1) soBod (1) e QT
v

Question Number : 34 Question Id : 81356134 Question Type : MCQ Display Question Number
: Yes Is Question Mandatory : No Single Line Question Option : No Option Orientation :

Vertical

. 3 o
The domain of f(x) = Cos™’ (xT) —logp(4—1x)1s

; 3
f(x) = Cos™? (xT) —logy(4 — x) I AB(Rotsecd P00 WS, HBFIV

Options :
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1w (1,4)
Lo [1.4)
5w (1,4]

[1,4]

Question Number : 35 Question Id : 81356135 Question Type : MCQ Display Question Number
: Yes Is Question Mandatory : No Single Line Question Option : No Option Orientation :

Vertical

. x  x2 |
j(1+§+§+“”“m dx =

Options :

1% log (x +1) ¢

Question Number : 36 Question Id : 81356136 Question Type : MCQ Display Question Number
: Yes Is Question Mandatory : No Single Line Question Option : No Option Orientation :

Vertical
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Find |@ x b |"if|@] =2.|b| =3 and (@,b) = /6

@] =2. 15| =3 208050 (a,0) = /6 wowd, |[a x b | =

Options :

1.% —9

4.% =3

Question Number : 37 Question Id : 81356137 Question Type : MCQ Display Question Number
: Yes Is Question Mandatory : No Single Line Question Option : No Option Orientation:

Vertical
The general solution of cos(x) — sin(x) = 0 1s
cos(x) —sin(x) = 0 £ 5"65@5 Fe 5D

Options:

T
nr——, n€&
1. % %

m
2nm+—, n€ &
2. % 4

nn+—, ncEi
3. ¢ 4
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|

Znw—— nEE
4

Question Number : 38 Question Id : 81356138 Question Type : MCQ Display Question Number

: Yes Is Question Mandatory : No Single Line Question Option : No Option Orientation :

Vertical
n-1
If 1, a?, -, a"* are the n-th roots of unity. then Z — 1s equal to
i=1
n-1
L, @, e, @™ 00 D6o(1) Qg n-33 BTO000 VORI, Z 2 j — Dewd
i=1
Options:
- (n—2)2"

fe-2)2% et

(n—2)2n1

201

‘22N
. (n—2)2

Question Number : 39 Question Id : 81356139 Question Type : MCQ Display Question Number
: Yes Is Question Mandatory : No Single Line Question Option : No Option Orientation :

Vertical
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Find the solution of the differential equation (e‘v—x}d;r = (ex & T]dx

(7 )dy = (" — &” )dx 550D HALCEINDL FED

Options:
- 2
1% e¥e*=e"—e* toc
X X
5 x e¥e* =e*e® —e® t¢
X x X
3 » €78 =e%e” —e” tc
¥ X X
4 % €5 ef=e%e® —e® +o

Question Number : 40 Question Id : 81356140 Question Type : MCQ Display Question Number
: Yes Is Question Mandatory : No Single Line Question Option : No Option Orientation :

Vertical

If [x] denotes the greatest integer function on x . then the number of positive integral divisors

of [(2 - \E)s] i
[d]. x 6% {rred v0trd) Ardd [(2+ @5] 2 7hoid B8] & Lyos
AP bb L)) "cooapﬁ

Options:

1.336
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4. %

Question Number : 41 Question Id : 81356141 Question Type : MCQ Display Question Number
: Yes Is Question Mandatory : No Single Line Question Option : No Option Orientation :

Vertical

If a line makes angles @, §, y with the positive directions of x, y and z axes respectively. then
the value of sin?a + sin® § + sin?y =

28 8D 1,7,z 03V (O30S B Srren ST a, f, y wond, sin® a + sin’ f + sin’y =

Options:

Question Number : 42 Question Id : 81356142 Question Type : MCQ Display Question Number
: Yes Is Question Mandatory : No Single Line Question Option : No Option Orientation :

Vertical

AP EAMCET 2020
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x—3 2x%-18 3x*-81
ff()=|x-5 2x2-50 4x3—500 | then f(1)f(3)+f(3)f(5) + f(5)f (1) is
1 2 3
equal to
-3 2x%2-18 -8
fl)=|x-5 2x*-50 4x*-500| @&, f(1)f(3)+f(3)f(5)+f(G)f(1)=
1 2 3
Options :
. f
, o FG
L. FDHFB)

o w FD+FE)

Question Number : 43 Question Id : 81356143 Question Type : MCQ Display Question Number
: Yes Is Question Mandatory : No Single Line Question Option : No Option Orientation :

Vertical

Foci of the ellipse 2x2 + 3y? —4x — 12y + 13 = 0 are
2x* +3y% —4x — 12y + 13 = 0 &¢do clng), Trzben
Options:

- (1 +\%.2) & (1—%,2)

- (+1.2) & (x-1.2)
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Question Number : 44 Question Id : 81356144 Question Type : MCQ Display Question Number

: Yes Is Question Mandatory : No Single Line Question Option : No Option Orientation :

Vertical
ks k® 7
—+— 4+ — is itk EN
- o 3 +15.Ic 15 1
keN& RS—E— 3—!— - 28

5 3 15k
Options:

A natural number

o Mo LR K JFGOE_J?S
1.9

An integer

205 ‘f.g_jbg“osm

A positive fraction
. 28 cﬁ;:“ejés eDai;L;iuJ

Equal to zero
. ATV[0 S VAT
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Question Number : 45 Question Id : 81356145 Question Type : MCQ Display Question Number
: Yes Is Question Mandatory : No Single Line Question Option : No Option Orientation :

Vertical

The equation of the circle passing through (0, 0) and which makes intercepts a and b on the

co-ordinate axes 1s

30r0dotiiy) Mol TEP, WFITTVR @ SO b ©oBEPErVR 26188 58
gm0

Options :
x2+yvZP+ax+by=0

- x4+ yi+ax—by=0

3 % x24+yi—ax+by=0

4 x*+y*—ax—by =0

Question Number : 46 Question Id : 81356146 Question Type : MCQ Display Question Number
: Yes Is Question Mandatory : No Single Line Question Option : No Option Orientation:

Vertical

If pairs of straight lines x2 — 2pxy — y? = 0 and x? — 2qxy — y* = 0 be such that each pair

bisects the angle between the other pair. then

12— 2pxy — y? = 0 B0sw x? — 2qxy — y? = 0 ek 26¥ Garosrren D660
'&mﬁsaﬁ)odéﬁ Wr0E obwold, E.'.‘Q')Dd}

Options :

1 % Pg=1
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5 % pq = 2
5 & PG9=—2
4w,pq——1

Question Number : 47 Question Id : 81356147 Question Type : MCQ Display Question Number
: Yes Is Question Mandatory : No Single Line Question Option : No Option Orientation :

Vertical

If P and Q are square matrices such that P2%% = 0 and PQ = P + Q thendet(Q) will be

P = 0, PQ = P + Q eaker P. Q o) B806R Srdgen wand, det()) =

Options:

1.«'/0

1 only
1 33

—1 only
—1 doegdd

Question Number : 48 Question Id : 81356148 Question Type : MCQ Display Question Number
: Yes Is Question Mandatory : No Single Line Question Option : No Option Orientation :

Vertical
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f 2 tan(x)
: X =

1 + 2 tan?(x)
Options:

log |cos? x + sin? x| + ¢
1. %

cos® x e

log + sin | +£

2. ¢ .

2

sin“ x
log |c052 x + +c
3, % %
cos?x sin?x
log +c
2 2
4. %

Question Number : 49 Question Id : 81356149 Question Type : MCQ Display Question Number
: Yes Is Question Mandatory : No Single Line Question Option : No Option Orientation :

Vertical

If 8 € l— %, gl. then Cos ™ (sin 8)is equal to

SE[—EE]@:::J&.’ &> Cos~1(sinf) =
345 2D os (sinf) =

Options :
T
===

1.4 2

T
ﬁ__
2. % Z
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T
;—I—S

e

Question Number : 50 Question Id : 81356150 Question Type : MCQ Display Question Number
: Yes Is Question Mandatory : No Single Line Question Option : No Option Orientation :

Vertical

f @ =ai+3] —6kandb =21 — ] +pk then the values of @, f sothat @ & b may

be collinear are

G=ail+3] —6k8am b =27 — ] +fk HB%0 DAFesTeD ©ANI o, f

HIID IV
Options :
| (5:3)
, % (6,2)

Question Number : 51 Question Id : 81356151 Question Type : MCQ Display Question Number
: Yes Is Question Mandatory : No Single Line Question Option : No Option Orientation :

Vertical
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If 2a =-1-iy3and 28 = -1+ iv3 then 5e* + 5% + 7a £ is equal to
2a = —1— V3 S8k 26 = —1+iv3 wowd, 5a* +58* + 7 1p7! Dewd
Options :

1.% —1

2. % —2

Question Number : 52 Question Id : 81356152 Question Type : MCQ Display Question Number
: Yes Is Question Mandatory : No Single Line Question Option : No Option Orientation:

Vertical

The direction cosimes of the line which is perpendicular to the lines with direction cosines

proportional to (1, —2,—2) and {0, 2, 1) is given by

(1,-2,-2) S08as0 (0, 2, 1) en B § QRO (10 DEFB Bolot)S LotIoTT God

'&é@ﬁ&nm%%%@@
Options:

(o )
1 % TES % B
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Question Number : 53 Question Id : 81356153 Question Type : MCQ Display Question Number
: Yes Is Question Mandatory : No Single Line Question Option : No Option Orientation :

Vertical

X
. : : dt T
The value of x that satisfies the equation JE.W——FME—__l =75 18
J

; dt i
f =" hrecerdy Doy HBE x Debd
e Ve2—1 12 E

\-'E

Options:

Question Number : 54 Question Id : 81356154 Question Type : MCQ Display Question Number
: Yes Is Question Mandatory : No Single Line Question Option : No Option Orientation :

Vertical
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The angle between the lines 2x + 11y —7=0and x+ 3y +5=101s

2¢+ 11y —7 = 0 2800 x + 3y +5 = 0 Baow 065 Esadd

Options :

17
Tan™ 1! (—)
13

1. %

Question Number : 55 Question Id : 81356155 Question Type : MCQ Display Question Number
: Yes Is Question Mandatory : No Single Line Question Option : No Option Orientation :

Vertical
The value of ‘k" so that the line y = 2x + k may touch the ellipse 3x? + 52 = 15 i
3¢% +5y% = 15 86Ty ¥ = 21 + k D6¥0D Dy 30t k" Dewd

Options :

|Ir'_
1_¢iw23
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Question Number : 56 Question Id : 81356156 Question Type : MCQ Display Question Number
: Yes Is Question Mandatory : No Single Line Question Option : No Option Orientation :

Vertical

Leta,b,c be three vectors
i) (@axb)xe=(@.e)b—(b.t)a
(i) (a)x(b xc)=(a.b)c—(a@.c)b

a,b,c 230D
@ (@xb)xec=(@.e)b —(b.c)a
() (@)x(bxc)=(a.b)e—(a.c)b

Options :
(1) 1s mcorrect. (11) is correct

- (1) IVBIW. (i1) R0

(1) 1s correct. (11) 1s incorrect
5 (1) RS0 (11) SRBDD

Both (1) and (11) are correct
. (1) Sododw (11) e ;}ﬂémm

Both (1) and (i1) are incorrect

. x (1) SoBodw (11) ev @“faej?g;:mw

Question Number : 57 Question Id : 81356157 Question Type : MCQ Display Question Number
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: Yes Is Question Mandatory : No Single Line Question Option : No Option Orientation :

Vertical

IF(1—x+ 29 = ag + agx + a6 + o+ ay0r® then 2a, + 3a; + 4ag + -+ 200y =

(1-x+ 22 =y + agx + a0 + o+ 50 o0&, 2a, + 3a; + 4a, ++ + 200, =

Options :
0

1. %

10
20

, =2

Question Number : 58 Question Id : 81356158 Question Type : MCQ Display Question Number
: Yes Is Question Mandatory : No Single Line Question Option : No Option Orientation :
Vertical

If v = sin®®(x) .cos®*?(x) . find g

. . dy
y = sin®®(x) . cos*?(x) e, e =
X

Options :

- (98 cos?? x.sin®® x) + (39 sin*® x. cos?” x)
- (99 cos?® x.sin®? x) — (40 sin3? x. cos®® x)
3 v (98 cos?? x. sin®*® x) — (39 sin*? x. cos?” x)
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. (99 cos?® x.sin®? x) + (39 sin*? x. cos?7 x)

Question Number : 59 Question Id : 81356159 Question Type : MCQ Display Question Number

: Yes Is Question Mandatory : No Single Line Question Option : No Option Orientation :

Vertical

W I X i 15 1 _
The derivative of Tan™ l f—] with respect to Sec ™ (—) 15
{27 2x2-1

1
Sec™" (m) D0 dare Tan™ [1+ \{ﬁ] 220097 BHFVHANR SROFBW
" = : . Tl

Options :

Question Number : 60 Question Id : 81356160 Question Type : MCQ Display Question Number
: Yes Is Question Mandatory : No Single Line Question Option : No Option Orientation :

Vertical
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For a triangle with the sides of lengths 6. 5 and 9. the radius of the i circle 1s

S0 D ZoBH0w TE 6,5 08050 9 La0H, AZBAL a30g), o6 S
a“éiréa.n
Q
Options :

V3

——

5 v V2

NI

"J-\_
L |

&)

Question Number : 61 Question Id : 81356161 Question Type : MCQ Display Question Number
: Yes Is Question Mandatory : No Single Line Question Option : No Option Orientation :

Vertical

i
If a+ bi ~ B , then (a,b) =

i
a + bi T o0, (a,b) =
—

Options:
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Question Number : 62 Question Id : 81356162 Question Type : MCQ Display Question Number
: Yes Is Question Mandatory : No Single Line Question Option : No Option Orientation :

Vertical

ABC is a right-angled triangle in which max{AB, BC, AC} = BC.If the position vectors of B

and C are respectively 37 —27 + % and5i + ] —3k then AB.AC + BA.BC +
CA.CB =

ABC 8 wonEts Gavaiw. HB4(4B, BC,AC) = BC 001 B, 0 Dol 5064w
365%rr 31 -2 + k 20Batw 51 + ] — 3% wowd. AB.AC+BA.BC+CA.CB =

Options:
28

1. %

29

27

Question Number : 63 Question Id : 81356163 Question Type : MCQ Display Question Number

: Yes Is Question Mandatory : No Single Line Question Option : No Option Orientation :
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Vertical

If the lines 3x + 4y —5=0. 2x + 3y — 4 = 0 and px + 4y — 6 = 0 all meet at the same
point. then p 1s equal to

3x+4y-5=10,2x+ 3y —4 =0 H08aiw px + 4y — 6 = 0 20 DL and p =

Options :

1.@3_2

Question Number : 64 Question Id : 81356164 Question Type : MCQ Display Question Number
: Yes Is Question Mandatory : No Single Line Question Option : No Option Orientation :

Vertical

Ifa >0 neER.then limx™ =
X

a>0 neER D Ilimx"=
X
Options :

n
1 % e
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Question Number : 65 Question Id : 81356165 Question Type : MCQ Display Question Number
: Yes Is Question Mandatory : No Single Line Question Option : No Option Orientation :

Vertical

o
‘ x2(sinx) dx =
IT

Options:

Question Number : 66 Question Id : 81356166 Question Type : MCQ Display Question Number
: Yes Is Question Mandatory : No Single Line Question Option : No Option Orientation :

Vertical
Find the solution of the following differential equation

208 VD PAESTTIE F D Bwhed

{x cos G) + v sin G)} ydx = {}-‘ sin (I) — X COS G)} x dy

Options :
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Xy sin (l) = 2o
4, %

Question Number : 67 Question Id : 81356167 Question Type : MCQ Display Question Number
: Yes Is Question Mandatory : No Single Line Question Option : No Option Orientation :

Vertical

The function f(x) = (1/2)* on R is

R %082 F(x) = (1/2)* Hdooidm

Options:
Strictly decreasing

20G 950 e
1.¢ @

Strictly increasing

$06 es8 e
2.% @

Decreasing

- €958 Seeasdn
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Neither increasing nor decreasing
e38'3mEa20 TG0 eS8 IrrAL SPCD

Question Number : 68 Question Id : 81356168 Question Type : MCQ Display Question Number
: Yes Is Question Mandatory : No Single Line Question Option : No Option Orientation :

Vertical

If the pair of straight lines 6x% — 5xy + y? = 0 makes angles @ and § with the x-axis. then

tan(a — f) =

6x% = 5xy + ¥ = 0 %0800 Arddotd Spe 1- 05e8 . f Seren B3, @
tan(e — f) =
Options :

2

1. %

Question Number : 69 Question Id : 81356169 Question Type : MCQ Display Question Number
: Yes Is Question Mandatory : No Single Line Question Option : No Option Orientation :

Vertical
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) | 2\ y n oy _
The slope of the tangent of the curve (ﬁ) + (ﬁ) =2 at(31,1209)

. ¥ mn y )?l
C = — N <
(31,1209) Dotdoad e (31) + (1209 2 3578 fv n}bd;t‘iaa TeD

Options :

, % 39

Question Number : 70 Question Id : 81356170 Question Type : MCQ Display Question Number
: Yes Is Question Mandatory : No Single Line Question Option : No Option Orientation :

Vertical

Tangents are drawn to the hyperbola x? — 9y? = 9 from point (3, 2). Then the area of the

triangle formed by the tangents and the chord of contact 1s 5(. units

(3,2) Do x% — Iy = 9 edHTHuairdS SNCACEY Acheadda). &
0 8R0S &, 10 27| ST D6\E G508 BTVRW BE6L) 0L

Options:

w10
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Question Number : 71 Question Id : 81356171 Question Type : MCQ Display Question Number
: Yes Is Question Mandatory : No Single Line Question Option : No Option Orientation :

Vertical

If the standard deviation of the numbers 2,3, 2x and 11 15 3.5 . find the possible values of x.

2,3, 2x 208050 11 © FAres D00 3.5 00, ¥ £ Do fundw
Options :

5 oL
B

1. %

Question Number : 72 Question Id : 81356172 Question Type : MCQ Display Question Number
: Yes Is Question Mandatory : No Single Line Question Option : No Option Orientation :

Vertical

AP EAMCET 2020



AP EAMCET 2020

d
Tf %2019 2020 _ [y 4 )#039 thend—y =
X

. dy
(2019 . ,Lj,zﬂzra = (x + },)41)39 L9003, d_ —
X

Options:

1.330

Question Number : 73 Question Id : 81356173 Question Type : MCQ Display Question Number
: Yes Is Question Mandatory : No Single Line Question Option : No Option Orientation :

Vertical

A bag consists of 3 red balls, 5 blue balls, and 8 green balls. A ball 1s selected at random,

What 1s the probability of not getting a blue ball?

28 Po06" ATE) D), LONE Do 8a I DY L08R &) ).
a:irc:’:arﬁbsnm 28 83089 893, 86 Dvo Lod ©95( 8oL ol o

Options:
11

| 16
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Question Number : 74 Question Id : 81356174 Question Type : MCQ Display Question Number
: Yes Is Question Mandatory : No Single Line Question Option : No Option Orientation :

Vertical

If y=5x2+6x+6.x=2. Ax = 0.001 then value of dy is

y=5x2+6x+6x=2, Ax =0.001 00 dy Dewd

Options:

1¢ 0.026

L« 0.0026

0.062

0.0062

Question Number : 75 Question Id : 81356175 Question Type : MCQ Display Question Number
: Yes Is Question Mandatory : No Single Line Question Option : No Option Orientation :

Vertical
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Find the value of m + n if the circumference of the circle x2 +y2 +8x+8y-m=01is
bisected by the circle x* + y2 - 2x + 4y +n =0

4y’ =2ty =0 3880 1 +y7 4 8x + 8y —m = 0 I PRBWsD
W) 96 M + 1 Ded

Options :

| » —56

, % 56

L 50

—34

Question Number : 76 Question Id : 81356176 Question Type : MCQ Display Question Number
: Yes Is Question Mandatory : No Single Line Question Option : No Option Orientation :

Vertical

Find the transformed equation of x cos @ + y sin@ = p. when the axes are rotated through an

angle 0.

AErITTOR § Seso Zoeo Boto S0 D6\E APSH WY aagvé xcosf +

ysing = p Aadg0to a08), ARS GO0

Options :
1Le X =P
2 % y=r
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X+y=p

X—y=7p

Question Number : 77 Question Id : 81356177 Question Type : MCQ Display Question Number
: Yes Is Question Mandatory : No Single Line Question Option : No Option Orientation :

Vertical

If f(x) € Q[x] be a non-zero polynomuial such that all its roots are irrational. then the degree

of f(x) 1s

F(x) € Q] f(x) wimond dog), duroed) Sotl dowjen Bawd, f(x) WS
SO

Options:
an even munber

~0 ﬁu%ﬁé

an odd number

&3 ‘53:3535

can’t determine
SAOF D g0

Question Number : 78 Question Id : 81356178 Question Type : MCQ Display Question Number
: Yes Is Question Mandatory : No Single Line Question Option : No Option Orientation:

Vertical
AP EAMCET 2020



AP EAMCET 2020

fsilﬁ(xj -cos?(x) dx =

Options :

1 % sin*(x) —sin®(x) +c
5 % cos*(x) — cos®(x) 4 ¢

1 < 3 1
—sin*(x) — —sin®(x) + ¢
3.¥ &

1 1 :
Py cos*(x) — = cos®(x) + ¢
4. %

Question Number : 79 Question Id : 81356179 Question Type : MCQ Display Question Number
: Yes Is Question Mandatory : No Single Line Question Option : No Option Orientation :

Vertical

Find the number of different garlands that can be prepared using 5 different coloured flowers.

5 Bﬂél Gorben (e :g_*;t{q:JmJUS Sosrdd dobecddd be‘,'ml 2700 Rdogy

Options :
1. % 120

2.v 60
5 119

4 % 59
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Question Number : 80 Question Id : 81356180 Question Type : MCQ Display Question Number

: Yes Is Question Mandatory : No Single Line Question Option : No Option Orientation :

Vertical
: g -1 o] %2 32 5
m — o8| = | —uus] " | roosl- a8 = =

x—0 sin® x 2 4 2 4
Options:

§
1 % 16

1
5« 32
3 % 64

1
4% 8

Physics

Section Number : 2
Mandatory or Optional : Mandatory
Number of Questions : 40
Number of Questions to be attempted : 40
Section Marks : 40
Display Number Panel : Yes
Group All Questions : Yes
Mark As Answered Required? : Yes
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Question Number : 81 Question Id : 81356181 Question Type : MCQ Display Question Number
: Yes Is Question Mandatory : No Single Line Question Option : No Option Orientation :

Vertical

Microwaves are used in

E Sborrod B &DHOITAIE?

Options:
N
&59D2D

Radio transmission

, Ba.aI° DTS

Radar
3 o6

Atmospheric research

4w BT TT D00 DOTED

Question Number : 82 Question Id : 81356182 Question Type : MCQ Display Question Number
: Yes Is Question Mandatory : No Single Line Question Option : No Option Orientation:

Vertical

The lower half of a vessel of depth 2d em 1s filled with a liquid of refractive index y; and
the upper half with a liquid of refractive index p,. The apparent depth of the vessel seen

perpendicularly 1s

2d cm 6'80 &) 86" edorh o e 1y 555550 DAY G33WE. il aprie’
iy $8330SAD $BAS G508 DodAIB. VoA ErbNE 8 6)¥ 6'd
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Options :

d(#iﬁz)
1. % Npgtis

Question Number : 83 Question Id : 81356183 Question Type : MCQ Display Question Number
: Yes Is Question Mandatory : No Single Line Question Option : No Option Orientation:

Vertical

The energy stored in a coil of inductance L. carrying a steady current i is in the form

L D088¢Aw, i DS pariraw ¢80 oy’ Jex ol 3

Options :
Magnetic

_— F.‘)Cli‘:r.ﬁ"zjoej %‘é

Electrical

QS IS
2. %

Both magnetic and electrical

- €930 0B850 208080 DS 38
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Heat
&R S

Question Number : 84 Question Id : 81356184 Question Type : MCQ Display Question Number
: Yes Is Question Mandatory : No Single Line Question Option : No Option Orientation :

Vertical

A resistor of resistance ‘R’ 1s connected between the ternunals of a cell of emf ‘E” and
mternal resistance ‘7. If ‘" is the current through the circuit. The terminal potential
difference of the cell 1s given by

B'GAD ‘R’ 0 DE?QE“.UJ E’ Dm5wt)as QO3 ‘T’ e.aoe:’s&lﬁsqs.‘m e emgeﬁé D,
deaio &° 3@55 DA I eond aP5E35 ($00:%0) BocS Ho mq&@"&?@é ac
Options :

IR

1. %
E—Ir

ER
R+4r

E—R

Question Number : 85 Question Id : 81356185 Question Type : MCQ Display Question Number
: Yes Is Question Mandatory : No Single Line Question Option : No Option Orientation :

Vertical
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When a body shdes down an inclined plane with coefficient of friction p. then its acceleration
will be;

20066 WS 1 (0 28 TSV ok 28 I PASD) & 8RS WA BOVY T

ejgdeao

Options :

| g (sinf — ucos @)

- g (sinf 4+ pcosf)

- g (usinf — cos @)

n gu (sinf — cos )

Question Number : 86 Question Id : 81356186 Question Type : MCQ Display Question Number
: Yes Is Question Mandatory : No Single Line Question Option : No Option Orientation :
Vertical

The limit of resolution of an oil immersion objective microscope of numerical aperture 0.8
for light of wavelength 0.6 um 1s

0.6 im B6orBED 0 7038 0.8 S0d o BOIGH 35 APK 601D 1<) 6

206,50 aog) 03

Options :
1.5
— um
8
1.9
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Question Number : 87 Question Id

AP EAMCET 2020

: 81356187 Question Type : MCQ Display Question Number

: Yes Is Question Mandatory : No Single Line Question Option : No Option Orientation :

Vertical

Four-point masses. each of mass M. are placed at the comers of a square of side L. The

moment of nertia of the system about one of its diagonals 1

L T6Y 60 28 BA6RY w8).8) %‘g;:m 96 M $5(0°3 (10 SErod oIy, ¥

b5bf353 ATal 880 Do 2 EPddso DD dodh?

Options :
. 2ML?

1. %

2
2. v ML

L w 4ML?

4 % 6ML?

Question Number : 88 Question Id

: 81356188 Question Type : MCQ Display Question Number

AP EAMCET 2020



AP EAMCET 2020

: Yes Is Question Mandatory : No Single Line Question Option : No Option Orientation :

Vertical

A flywheel starts from rest and rotates at a constant acceleration of 2 rad. s 2. The number
of revolutions that it makes m first ten seconds 1s

N f’geﬁé o) 2 rad.s ™2 %de:&gdmmf FA0rTen Ko w8 WEo 2068 10 A5
Twod’ B BT Vo
Options :

1_\_"‘,16

24

3 % 32

Question Number : 89 Question Id : 81356189 Question Type : MCQ Display Question Number
: Yes Is Question Mandatory : No Single Line Question Option : No Option Orientation :

Vertical
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Four closed surfaces s,. s, $3 and s, together with charges +q. —q and —2q are shown.

Through which one of the surfaces the net flux 1s zera?

81, S, S5 SOBAKY 8, R T EHBSTOR, TOHS T 14, —q, OO —2¢ BN
STV HLANES WPDD DG G, 2 SISO TT™ L6 BTP30

*N“éﬁm}?

Options:

1. %

Question Number : 90 Question Id : 81356190 Question Type : MCQ Display Question Number
: Yes Is Question Mandatory : No Single Line Question Option : No Option Orientation :

Vertical
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On producing the waves of frequency 1000 Hz 1n a Kundt's tube. the total distance between
6 successive nodes is 85 cm. Then. the speed of sound in the gas filled in the tube is

2,8 )06 B %}J;.‘mesa &éﬁ 290208 Sdod ;"1“:;::3;55;» 1000 Hz. 6 oD% waﬂocﬁmv .‘fuc_ﬁé
20830 Ardan 85 cm o, Q;ﬁwﬁ aai TS’ c’)s.b D090 dodd?
Options :

1 % 330 m.s !

5 » 340 m.s 1

3 = 350 m.s?

4 % 300 m.s7t

Question Number : 91 Question Id : 81356191 Question Type : MCQ Display Question Number
: Yes Is Question Mandatory : No Single Line Question Option : No Option Orientation :

Vertical

bkg of water at 20°C is added to 10kg of water at 60°C. Neglecting heat capacity of vessel

and other losses, the resultant temperature will be nearly

20°C &'l $DA Skg D8I, 60°C e €80 10kg NS s 1S e'a.
(g saeron avmgsm, DAY &8 AT 0868 S8 o)
Options :

. % 35°C

, % 40°C

3 @ 47 °C

AP EAMCET 2020



AP EAMCET 2020

28

Question Number : 92 Question Id : 81356192 Question Type : MCQ Display Question Number
: Yes Is Question Mandatory : No Single Line Question Option : No Option Orientation :
Vertical

If ultra—violet radiation of 6.2 eV falls of an aluminum surface, then kinetic energy of the
fastest emutted electron is (work function = 4.2 eV/)

6.2eV v wdNS TS Sommen ws urdobe 608V DBV, Wdjed Do
agﬁoﬁead:) JUS'D WS, (9235 Jodd? (DA Hooke=4.2eV)

Options :

10-19
1@ 4% 1071
FER 107
2. %

L x 7X10757

31
4 % 9 x ™7

Question Number : 93 Question Id : 81356193 Question Type : MCQ Display Question Number
: Yes Is Question Mandatory : No Single Line Question Option : No Option Orientation :

Vertical
e 11 .
In the nuclear reaction .C —— B + f + X. X stands for

11

oC—— B+ B+ X Sogss w565&" X D AFDoIDE
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Options :
a neutron
28 s&rs\g&

an electron

2.8 6}1:5;5

a neutrino

v 28 ArBS

an antimentrino

, w8 oA BS

Question Number : 94 Question Id : 81356194 Question Type : MCQ Display Question Number
: Yes Is Question Mandatory : No Single Line Question Option : No Option Orientation :

Vertical

1 kg of steam at 150 °C is passed from a steam chamber in to a copper coil immersed in
20 litres of water. The steam condenses in the coil and 1s returned to the steam chamber
as water at 90 °C. Latent heat of steam is 540 cal. g™, specific heat of the steam is
1cal.g™t.°C™*. Then. the rise in temperature of water is

8 6 8¢ &od 150 °C 36 1kg 98 663 20 Bug DB AwInaid) T
05°S DoDdTE. e’ D DB ENEHBAD Bod 90 °C 56 AT 506 DS
S8 36A BERD. wowd, A & GBS DAOMEL . I granzsd fdnaw
= 540 cal. g™* 208080 8 8B IV = 1 cal.g™.°C™!

Options:
1. % 75°C

, % 60°C
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5 v 30°C

4 % 20°C

Question Number : 95 Question Id : 81356195 Question Type : MCQ Display Question Number
: Yes Is Question Mandatory : No Single Line Question Option : No Option Orientation :

Vertical

If a unit positive charge is taken from one point to another over an equipotential surface. then

w8 MG DOV D WS VAL G Sméwé?:)l 28 Do) o) IFE Dot
) Dﬂaé@bm
Options :

Work is done on the charge
BFDBAW 2 DI AL

Work 1s done by the charge
EF DB DA LIV

Work done i1s constant
2000 HI ?gd;ﬁm

No work 15 done
DEVIot) H 206850

Question Number : 96 Question Id : 81356196 Question Type : MCQ Display Question Number

: Yes Is Question Mandatory : No Single Line Question Option : No Option Orientation :
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Vertical

A plane wave y = a sin(wt — kx) propagates through a stretched string, The particle
velocity versus x graph at t = 015

Frdahecd w8 A y = asin(wt — kx) do w8 Forden ddoto DodreRed. t =0
3¢ Sedrio () ‘:539“5}
Options :

Iy

L \

1.9

A

Pan

i

2. ®

F Y

- /\
3. ®
4. %
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(al¥]

Question Number : 97 Question Id : 81356197 Question Type : MCQ Display Question Number
: Yes Is Question Mandatory : No Single Line Question Option : No Option Orientation :

Vertical

An airplane flies 400 m north and 300 m south and then flies 1200 m upwards then net

displacement 1s

28 DaAraw 400 m &d6 B3S°. 300 m GEpAD ) SETS 1200m 6S N8 1Y
T o0

Options:

1400 m
]

5 % 1500 m

1200 m

1100 m
4. %

Question Number : 98 Question Id : 81356198 Question Type : MCQ Display Question Number
: Yes Is Question Mandatory : No Single Line Question Option : No Option Orientation :

Vertical
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A pure number which determines the type of flow of a liquid through a pipe is known as

(&80 (o™ 200 )0 BTTPES0 Adowesd s %'og:- Roa)

Options:
Reynold’s number

(o1 il ) “fooaaé
Y =

Bemoulli’s Number

- ﬁd“;l@ “n:oa,:rig

Pascal’s number

- 5“‘&:&95 Roay

Torricelli’s number

ﬁ“ﬂa@ SEESS
4, %

Question Number : 99 Question Id : 81356199 Question Type : MCQ Display Question Number
: Yes Is Question Mandatory : No Single Line Question Option : No Option Orientation :
Vertical

Work done

WA D

Options:
Can only be positive
ST So s2T°ha) e2sB0b

1. %
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Can only be negative
20ET) So SS9 NS00

Can either be positive or negative

v ST So oo 20ETS) So DB

Cannot be assigned a sign

DD I MG B3I BoBT AW
4. %

Question Number : 100 Question Id : 813561100 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

A gas volume 251 em? at 20 °C and pressute 78 em of Hg. Find its volume at N.T.P.

20°C ;5%5 GR) wS T0INY DAL 251 cm® S9Bobo o 78 em of Hg. 00

N.T.P. 56 08088y smﬁbod.

Options :

| % 420 cm?

il
5 % 440 cm

240 cm®
3. %

100 cm?®
4. %
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Question Number : 101 Question Id : 813561101 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Frank and Hertz experument proves that

o8 208080 I 0 DAITTES) EAMT DEFDEDI

Options :
Light moves m the form of waves as well as particles
STod 020 St drarees” Dadreiocioan

The electron does not radiate energy while moving in an orbit
28 SE585° VT AEMDINED AeWH0t) 38 DEOGV BODHR

The energy states of an atom are quantized
DOBTEDDY 3§ Fo0ed STEBSEEHL BBV

The whole of the +ve charge of the atom 1s concentrated in the nucleus
DOBTEDL) AW GTDFAW So@SAN I SoQS0otdeIcoRD

Question Number : 102 Question Id : 813561102 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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An electric dipole 1s situated in an electric field as shown in figure. The dipole and electric
field are both in the plane of paper. The dipole is rotated about an axis, perpendicular to the
paper. at point A in anticlockwise direction, If the angle of rotation 15 measured with respect
to the direction of the electric field then the torque for different values of the angle of rotation
8 15 correctly represented by which graph among a, b, ¢, d given in fig(b)?

D008 trdRD DT 2,8 DS BT 2,8 IS o8 Gotrdd. B0, Edo
Socir 28 S dwod” &) . A Dot 98 &8 BIET) 5B BerdS Vot &)
28 880 Dol aﬁ’wa‘:}g&éﬁ‘ B0 DA, DG F:068 10(8) DewdvR D@éé ()
&% Do SDD, DA StS e &r6), Ho-(b) & drada b ¢ dod 38
ArQotdttddIod? |

Options :
(a)

1. %

5 » (D)

3.0 ©

(d)

4. ®
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Question Number : 103 Question Id : 813561103 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

When 50 g of water at 10 °C 1s mixed with 50 g of water at 100 °C, the resultant temperature 1s

10°C 3¢ 50 g 909 100°C 3¢5 50 g DOS' 608, 999 &T

Options :
80 °C

1. %
55°C

2. ¥

2820

45 °C
E ]

Question Number : 104 Question Id : 813561104 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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The variation of electric potential with distance from a fixed pomnt 1s shown 1n figure. What 15
the value of electric field at x = 2m

w8 G Dothded) 6 Aow) GG’ ;.‘U“dJDS 3)&’13595 TEH0S cﬁns% ;5.1"6.73 308
@ A o
H0306° APHREIA. ¥ = 2m GroAw .‘.‘Jg 3@5@ 2820 Jed ot ?

V(Volts) 4
6
I
I
I
I 1 1 I
2 | I | :
| I | 1
1 | | |
' »  x(m)
1 2 3 4
Options:
1.4 9
2. % 3
2
3. ®
N
4, %

Question Number : 105 Question Id : 813561105 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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A calorimeter contains 0.5 kg of water at 30 °C. When 0.3 kg of water at 60 °C 1s added to it
the resulting temperature is found to be 40 °C. The water equivalent of the calorimeter is

28 368 dobidoes” 30 °C 36 0.5 kg NGR) 8. 60 °C 36 0.3 kg N8 oDy H04
&8 40 °C 1 oBorr. 6° Doeadh owy 203

Options :

| % 0.25 kg

5 @ 0.1 kg

3 % 0.2 kg

4 % 0.25 kg

Question Number : 106 Question Id : 813561106 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

If a vessel containing a fluid of density p upto height h 1s accelerated vertically downwards
with acceleration a,,. Then the pressure by fluid at the bottom of vessel is given by the equation

(P, denotes the atmospheric pressure and ‘g” denotes the acceleration due to gravity)

p Fold (1L TIET) 8 FES" h B S68 Do, & FY ST ot a, S0
BoBot BAL, & FY ol wriod DB SIS 2gdeo (P,
T H66 N0 B0k g ddq ejsdeao)

Options:

- P = Py + pgh + phay
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P = Py + ph(g — a,)
o

, P =P, — pgh

Question Number : 107 Question Id : 813561107 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Weak nuclear force always operates between

B0 © So@s Leren DB 065D DIBI0w

Options :

Electrons and neutrino
DU H0Bo3 ArBIen

Heavier elementary particles
20 DS SrFen

Charged particles
eSDTh SETTe

All the objects in the universe
DB ' ) 057w DYV
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Question Number : 108 Question Id : 813561108 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

A 3 m long steel wire is stretched to increase its length by 0.3 cm. Poission’s ratio for steel is

0.26. The lateral stran produced in the wire is

3m T o us Gy S Frbowr Teps® €BA Frbw 0.3 cm. Gy awg)
Sronerd Ay 0.26. 6" €80 a0 gy

Options :

0.26 x 1074
W

0.26 x 1072
2. *

-3
3 ¥ 0.26 x 10

026 x 1071
4, %

Question Number : 109 Question Id : 813561109 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Why 220 V AC 1s more dangerous than 220V DC ?

220V AC 08 220V DC DATGEC:200008. 52030

Options:
The DC attracts
DC e35882006
W ol ==
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Peak voltage for AC 1s much larger

AC aaos), 36 Sde orer DE,D
2. ¢ &

The body offers less resistance to AC
. AC ﬁd}ga}:ﬁ: 38850 S8 S DEDOOD FRD

Due to some other reason

4 % QG SEOTrY HORD

Question Number : 110 Question Id : 813561110 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

A body is moving with an initial velocity of 1042 m.s™" in the north-east direction. If it is
subjected to an acceleration of 2 m.s ™2 directed towards the south. the velocity of the body

after 5515

28 5103 10V2 m. s 89 rio $BA, 6:36-Brcdy B3 Poirdocinind) 8. o p B
635" 2m.s™ S(0t0 SMDY, 5 § SVo SDTS &8 DY drfo

Options :
10 m. s~ L. towards east

v 10 m.s™" &y P

10 m. s L. towards north

, x 10m.s™" &dde 2

10 m.s™ L. towards south

L« 10 m.s”! dmo PP
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10 m. s~ 1. towards north-east
. 10m.s™h &3ydm 22

Question Number : 111 Question Id : 813561111 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

A current *I" A flows in a circular arc of radius ‘r” subtending A B
an angle ‘6" as shown in the figure. Find the magnetic field at
the center O of the circle.

006" G D0 I A DS PPV 7
T(rgan, f §ta0 (0 w8 HTTY o AWE) Sodw

0 56 D616 eabd o S350 B,

Options :
ol

1.« 4mr

2uol.sin @

2. % 4mr

2Upl.sin @
3 ® 2r

2upl.sinf
4. % 41

Question Number : 112 Question Id : 813561112 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
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Orientation : Vertical

The current in a coil changes from 3 Ato 1 4 in 0.1 s n a coil of self inductance 8 mH. The
emf induced in the coil i

R(0h068S 8 mH o @ﬁ::’neegﬁe 3@5?}) 0.1sec & 34 Q0oc 14 & 27828. éﬁ::’negeﬁs

208208 AT WSV
Options :
1 % 16V

1.6 X 1072V

-
—ig

3 @ 16 X 107°V
4 % 2V

Question Number : 113 Question Id : 813561113 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Acceleration due to gravity

ghletls Sejsdeaema

Options :

increases with altitude
BV Do Swdd Héorba

1. %

decreases with altitude

oS A0
2.v 7 B
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1s independent of altitude
. B0E A6
3.% =

first decreases and then increases with altitude

D0 BN BEOTS DB’ DAV
4. %

Question Number : 114 Question Id : 813561114 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

If mass, speed and radius of the circular path of the particle are increased by 100 % . then the

necessary force required to maintain the circular path will have to be mcreased by

8 argand’ SOmAR) snaw, GIEE, S, TRrgan 100% D6RS, vl 9
APGA0R §AFAOHOL S50 LS’ OHEL TS,

Options:

., 100%
250 9%
2. %

0
3 @ 300 %

400 %
4. %

Question Number : 115 Question Id : 813561115 Question Type : MCQ Display Question
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Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

There identical uniform solid spheres each of mass ‘m’ and radius
‘r’ are joined as shown 1n the figure. with centers lying i the
same plane. The moment of mertia of the system about an axis

Iying in that plane and passing through the center of sphere C 1s

m @R, T ;1"53“3:113 (0 J0Ped AOLRAT DEHB 20

Feren HB06" drodew, T8 Somrod w8 duswd” sih

&) 0. &5 f1¥60 € So@dn ot T8, &8 dwod” &)

28(S08 Brad) g0 Do SR RS LS BV

Options :
16

?THT

2
1. %

12
= inr
2. % 5

3 % 4 mr?

— T
4, %

Question Number : 116 Question Id : 813561116 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Unit of pole strength of a magnet 1s

9037, 0B NG, HSRT IS DATEIDD

Options :
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Question Number : 117 Question Id : 813561117 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The ratio of the slopes of 1sothermal and adiabatic curves is

RATRE, QSQS S5V TO B
Options :

1. % 1

2. % ¥

Question Number : 118 Question Id : 813561118 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
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Orientation : Vertical

Kepler's second law (law of areas) is nothing but a statement of

S TGotiad QOB (m&&gu Do3EH0H0) FePslala bbb

Options :
Work energy theory

DD-2S DETohAD
1. % R~

Conservation of linear momentum

3P0 835 D6 dagagaw

Conservation of angular momentum
Eedah @y D ey aw
3.¢ -

Conservation of energy
. B8 QS

Question Number : 119 Question Id : 813561119 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

In a Potentiometer experiment the balancing length with a cell is 560 cm. when an external
resistance of 10 Q 1s connected in parallel to the cell. the balancing length changes by 60 cm.

Find the internal resistance of the cell.

FO0 Dototh DIt 000 T 560 cm (20k08). 20678 10 Q erig
356;5"3‘1 NATBE RolPo B Vodovd ﬁ“é@ 60cm m"d}:] WoBAA. 2k
aiog), ©odd) By gXE" 002

Options :
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Question Number : 120 Question Id : 813561120 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

A particle 1s projected with a velocity ‘v’ such that its range on the horizontal plane 1s twice

the greatest height attained by 1t. The range of the projectile 15 (g =acceleration due to gravity)

28 SEFD) V' SAG” HEAN BOIYC ES2 DATEICTT T 6 BB 10 IR
Gtoxy) OB PEVSEAD T Jod? (g =drixid S(do)

Options :

492

1.v S8

4g
B2
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4v?
4, % Ve

Chemistry
Section Number : 3
Mandatory or Optional : Mandatory
Number of Questions : 40
Number of Questions to be attempted : 40
Section Marks : 40
Display Number Panel : Yes
Group All Questions : Yes
Mark As Answered Required? : Yes

Question Number : 121 Question Id : 813561121 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Choose the smallest ion from the following

$od TES” BBV BOITSA Do BowoC

Options :

2+
1. ¢ Mg

5 % S77

Na®t
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ci™

Question Number : 122 Question Id : 813561122 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Examples for bactericidal and bacteriostatic antibiotics. respectively are

%a&a“::ae.‘i“ AT m%&@am Hoa) SBain m‘iéémﬁjﬁé} hle] Botd
3T otie)OIrAS L) ST

Options :

Penicillin. ofloxacin

22D, LY's7y0d

Erythromyein. Tetracycline
DBE DD, BErpSD

Penicillin. Chloramphenicol

DAVDD, ETrondDE'S

Tetracycline. penicillin
PSS, DAV

Question Number : 123 Question Id : 813561123 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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Which of the following 1s most stable form, for the given structure. after rearrangement?

208 RS YAGBS 20AN SdTe @ej]so@ ?gsmma B30 2B ?

CH;
| o
H;C — C —CH:
|
CH3
Options :
CH;
| e
~ H;C— CH — CH-
1. %
CH;

H:C — C — CH3
®

CH} CH CH;—CH;;
>

CH—CH>—CH:

CHs

Question Number : 124 Question Id : 813561124 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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Which of the following chemicals can be added for sweetening of food items at cooking
temperature and does not provide calories?

ZHde :JCI"E"U 5000 HBATH0 Dot Hob) eg“;jéu 36 92) () DoBd FI0NHANVR
208 T8 Aot) oS Bobok
Options :

Sucrose

20E'S

Glucose

(rE'E

Fructose

>

Sucralose

Question Number : 125 Question Id : 813561125 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Which of the following sets of species have similar bond order?

SoHT " 28 e1odd AT 080 SHAD F63 (HBotdoct.
Options:

. N2,0;7 NO*

2_
> % NZ r FE. !02
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2_ %,
N, ,N, ,0,

N, ,C0,NO"
o

Question Number : 126 Question Id : 813561126 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The cyclobutanone of semi carbazone is represented as

A SONE'S aog), pErSS T SPDeCIBIB

Options :

— N— C—NH—NH;
I

O
0
I
— N—NH—C —NH,
2. %
O
I
NMH=NH—C — NH;
3_ W
]
I
C— NH —NH:
4. %
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Question Number : 127 Question Id : 813561127 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Decreasing order of acidity of the following terminal acetylenes is

S0 eody 5602 e20BCHD CINE), PBALD BT S22

H [il 1|1 H
I I I |I|
=
<
CO:Et OCTI: CHs
(i) (ii) (iii) (1v}

Options :

- (i) = (i) > (i) > (iv)

5 (i) = (i) = (iv) > (iii)

- (1) = (iv) > (ii) > (iii)

4w D> (i) > Gv) > (i)

Question Number : 128 Question Id : 813561128 Question Type : MCQ Display Question
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Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

In which of the following substances will hydrogen bonds be strongest?

20B:TJS" Yot S0l AL D TERD oY BVA (U8 AT

Options :
1. % HCI

2. v H20

Question Number : 129 Question Id : 813561129 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
The geometry with respect to the central atom of the molecules N(SiH, )5 . Me;N. (SiH; )P

respectively are

N(SiH3)s . MesN. (SiHs);P 06 dugsg dX6aareand) s Serh 68,8/2md e SR

Options :
Planar. pyramidal. planar

. Ao, w55°da, S0
1.

Planar. pyramidal. pyramidal

Rewdeo, WS?do, mﬂné?dﬂ
Y 4
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Pyramudal. pyramidal. pyramaidal

w5?do, "p&.‘.’r"ﬁ"é‘&"ﬁﬂ, w55°6o

Pyramidal. planar. pyramidal

wigsﬂdc, Ravdeo, “ﬂ!“ﬂ“é?dc

Question Number : 130 Question Id : 813561130 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

A gaseous mixture of 3 gases A, B & C has a pressure 10 atm. The total number of moles are
10. If partial pressures of gases A & B are 3 atm & 1 atm respectively and if molar mass of

gas C 1s 2, calculate the weight of € in the mixture.

20820 10 e (o A4, B 0b0dn € 098 0P Tl ADFAAD DA 10 atm.
A 258080 B Srodnyen F4¢ Searen S 3 atm 20a50 1 atn, o5 € s
Aerd @Aod 2 wows, 008" € SRR R

Options :

1ﬁ_/l.Zg

Question Number : 131 Question Id : 813561131 Question Type : MCQ Display Question
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Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Choose the mcorrect statement among the following

A. The reactivity of aromatic aldehydes and ketones is less than that of aliphatic carbonyl
compounds towards nucleophilic addition reactions

B. Benzaldehyde does not give Fehling's test
C. The H atoms in ethanal are acidic i nature

D. “p-Nitro benzaldehyde” is less reactive than “benzaldehyde” towards nucleophilic
addition reactions

S0t 0 TR DINTR) BVl

A. &r(sair DBS oswd 6] 2t IFArds elrd Hdako $8°% dor| 0d, Hpis
00 0¥ Sotd S8 I

B. Gozrfaré HBoh 2648 B

C. &6T0 & o H H6ArmPHon ) drsdaw 8 eotran

D. dri3air 508 doswd wojo b Serdird &37) p- ' Beadrd dayS o

208 DA Sotwod

Options :

1.% A

Z.QB

a.v D

Question Number : 132 Question Id : 813561132 Question Type : MCQ Display Question
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Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The solubility product of Ni(0OH), at 298 K 1s 2 X 107 mol®.dm™? .The pH value if its

aqueous and saturated solution i

298 K 96 Ni(0H), T ORoHTe OB 2 X 1072 mol®.dm ™. eond, ol Dodyd
BOITSM0 60E) pH Ddewd

Options :
5

, u 'Tb

13

Question Number : 133 Question Id : 813561133 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Assertion (A): Boron has a smaller first 1onization enthalpy than beryllum.

Reason (R): The penetration of a 2s electron to the nucleus is more than the 2p electron hence 2p
electron 15 more shiglded by the mner core of electrons than the 2s electrons.

(530566 (A): 65’09, SO SolS 383 060 aowbbb DA &%)6
680(R): 25 JUTD OWE) FeiED Ty 958, 2p QUTD 0, i\ Ty 038 ot

QS.JEF:). SN, 2p Qvg.ﬁ, o avggg S0 2s .Dues;.‘iu 57 BsaT 200 Eotieicotiuod

Options :
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Assertion and reason both are correct statements but reason 15 not correct explanation for assertion.

(5066 23008 S°6E0 Dok 2B LAV 59 SGro GDS6RL 1B o DIBLEH TG

Assertion 1s correct statement but reason 1s wrong statement.

DL DB ANV 5D S°CE0 BLYy

Assertion and reason both are correct statements and reason is correct explanation for assertion.

GyDE0m 20B0D T6t0 Dol 2B B0V LBAD S8t BAE6HL BT J3BSBood
3.¢

Assertion and reason both are wrong statements.

C5yNSCEs SOOI S°EEAD Do By

Question Number : 134 Question Id : 813561134 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Among the following oxides, which one 1s weakly basic and vet a powerful oxidant?

30 69316 OO NP TOI0 VAT VOKAND BSEEHT SPE Gold N6 ?

Options :

| % CO,

5 % Sn0;

Si0,

PbO,
4.9
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Question Number : 135 Question Id : 813561135 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

One mole of oxygen gas at STP is equal to

STP & ws ard 3520 T°050Y) £ PIAFDID

Options :

6.022 X 10?3 molecules of oxygen
6.022 X 10%° e 583D

6.022 x 10%* atoms of oxygen
6.022 x 10%° DOAre0DY 88 A

16 g of oxygen
16 g © 553D

3.2 g of oxvgen
3.2g 0 88 \8J

Question Number : 136 Question Id : 813561136 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Find the correct equation among the following

2085°0S° DBILS VASCETI) SOl

Options :
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E
Ink —In4d =-=2
RT

AE,
o RT

. _Eq
InK +In4d =

E
L —Ind—-InkK
RT

4.+

Question Number : 137 Question Id : 813561137 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Calculate the wave number and frequency of orange radiation having wavelength 6300 A.

6300 A 860 Q%hn (i) FBo2 Gorb IS6es0 ahg); Sdoff Do Sodok ﬁ“é;t’.g;a**‘gwm fedotioc.
Options :

. 1.587 x 10% m~1 , 4761 x 101® s71
1.587 x 10* m~1 , 4761 x 10** 71
2. 3

1.587 X 10®° m™1 , 4.761 x 101* 571
3.¢

o 1.587 x 105 m1 , 4761 x 102¢ 1
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Question Number : 138 Question Id : 813561138 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The products in the reaction given below are “+” denotes a free radical

doB r;5c5593‘ &3\ 0 2,88 8e) DanyEow? Bg).¢ (*) ey TAHAS) ArethdI

CH, CH, CH,
| i | I
H—Cs + (0 —— H—(—Cl + C—C—H

C2H5 CzHS CZHS

Options:

Meso forms

- Y drdren

Racemic mixture

BraS aFE8D
2. %

d and [ forms
. d 208030 | drdren

Cis-trans isomers

RDE-DDE e[
4. %

Question Number : 139 Question Id : 813561139 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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160 g of non-volatile solute ‘A" 1s dissolved in 54 ml of water at 373 K. What s the vapor

1

pressure of aqueous solution of A. (given molecular weight of A= 160 g.mol™")

160 g ‘A’ e.aa;"a’qb%u gy 54 ml DBS° 373 K 96 SBetrdd. "A’ 20 TrHHAN
a0E), &y HEHID dod? (cﬁg‘*é:]an: A aing) errd= 160 g. mol™1)

Options :
760 Torr
1. % 760 e

720 Torr
o 720¢r6

570 Torr
570 e

450 Torr

, % 450e08

Question Number : 140 Question Id : 813561140 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

“The properties of elements are periodic functions of their atomic weights.” This periodic law
was given by

QPOSETT) 0 T DENFTEETY B0 PNOIPL. & 86D AADAr) AWHE

Options :
Dobereimer

| G886
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Lothar Meyer

_ 5°66 Doabs
2. %

Mendeleev

3 ¢ 20O

Alexander

9T oD
4, % =

Question Number : 141 Question Id : 813561141 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

A 40% HCI solution has density 1.2 g.mI™%, The molarity of the solution is nearly

40% HCI grdeasm mree 12 g ml™! eond. & mrdnsw ared oo

Options:
11 M

1. %

Question Number : 142 Question Id : 813561142 Question Type : MCQ Display Question
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Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

“Copper matte” is composed of

'BTD0 AP Do

Options:
| % Cu,S & Cus0

5 & Cus,5 & FeS

3 % CuFeS; & Cu,S

4 % CuS & FeS

Question Number : 143 Question Id : 813561143 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
10g of NaOH 1s dissolved in 500 ml of aqueous solution. Calculate the molarity of this

solution? (Formula weight of NaOH = 40 )

500 ml © 20 Trameds’ 10g NaOH $BRetr. e Toto arerddd fosed? (NaOH
@“d}év’: 40)
Options :

=3
, x 05x107°M

, % 04M
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025 x 107 M
3. ®

4w 05M

Question Number : 144 Question Id : 813561144 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
Which among the following statements is correct?
A. There is a complete order of molecules in gases
B. There is a complete disorder of molecules 1 gases
C. Molecules are not always in randem motion in gases

D. Molecules are fixed at respective position in gases

$o8 DTS’ G Dwdn?

A JPoi e YPOT S0 oAl

B. Jroin enwdHes’ Qrom ST TS G0t

C. Train er0ide ©) RoBt)HNE" IrGD\E SORAE” Gots Iy
D. Jroin esnd)en .:}gg fgwm‘f 900 Gokomd

Options :

1. % A
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Question Number : 145 Question Id : 813561145 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

In which of the following reactions of H,0, acts as an oxidizing agent (erther i acidic.
alkaline or neutral media)?

208 r:.’:dse.::!ﬁ‘ H,0, e.agbr:‘.ds%m HRABOD0 BE[UN Bvdoc. (B Tor 26 O SR

masawﬁﬁ)
i, 2Fe™ FH0;—
ii.  2Mn0, +6H" +5H,0,——
i, L+H,0,+200 —
v. Mn"4 H,0, ——
Options :

1 % (11). (111)
, o @.Gv)
3 % (1). (111)
4 % (i1). (1v)
Question Number : 146 Question Id : 813561146 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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Glucose does not react with which of the following

(X8R 8067DS° BIS B6| BEODE?

Options :

.« NH0H

, % HCN

3 % Br, Water

NaHSO0,
4.¥

Question Number : 147 Question Id : 813561147 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Find the observed EMF of the cell Cd | €d%7(0.01 M) || €d**(0.01 M) | Cd under
conditions, internal resistance = 4 () and producing a current of 0.154.

(Given E® 24/, =035V and E° gyt g = —0.4V)

Cd | Cd* (0.01 M) || Cd* (0.01 M) | Cd e 00:008° 2838orsesnd EMF iedocsol.
2080 ©od0d AW = 410, DB &) HBRAVES” B0 015 4 D

6D BB, (Sgrosdn: ¢ 2, =035V &bt E%pyor gy = —0.4V)

Options :
1 % 0.75V

7
. 0.151
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0.6V

0.9V

Question Number : 148 Question Id : 813561148 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Which among the following i1s most common in alkyl halides?

oI De5" &) S SPOES” FTrEsT 2000 D87

Options :
Nucleophilic substitution

a‘:rﬁc&ri:ﬁg DAEDE
1.4

Electrophilic substitution

QEHS AN

Electrophilic addition

JOEDHS DogwdIW

Nucleophilic addition

(g anrHdS DoswdIW
4. %

Question Number : 149 Question Id : 813561149 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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Which of the following i1s an extensive property?

8oBTHS" DB DF6 6y 20?

Options :
Temperature

&’
Ea

1. %

Volume

b i Fele Fu b Tabb)

Density

- FoBd

Pressure

4w SERIW

Question Number : 150 Question Id : 813561150 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The correct statement about Cr2* and Mn** among the following is

(Given. atomic numbers of Cr = 24 and Mn = 25)

Cr2* Hodain Mn®T 0% DotroBod). So0dTees” 28 e9and 2ITIAISAN)
(Cr HiATe Do) 24. Mn DE2ATE Doy 25)
Options :

Cr?* is a reducing agent

% g £{ofs0e3
1. %
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Mn*?* is a reducing agent.

- Mn3t £{o3080es

Both Cr?" and Mn3* exhibit d° outer electronic configuration.

Cr2*, Mn®t Boc> d° eI QOO DTFRH D500t

When Cr?* is used as a reducing agent. it attains d° configuration.

Cret oo £{00SOAT TCRDE b d® DTJRB0 oo

Question Number : 151 Question Id : 813561151 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Two metals A & B having similar 1onic radii. react with oxygen to give only monoxides. and

react with nitrogen to give nitrides. Then. A & B respectively are

Bocy 200 A 208050 B :drd v voﬁraé-mé&g“vm £DR oswed. e.sé;)af: &
13065 ToBRY)E Tt ArTFyEAY ArE Gy, B MBI & 13065 oAy

T 6 iy, 003, A 0805w B &0 S6RrT

Options :
Li and Na

- Li 20Badiw Na

Na and Ca
Na sS0badn Ca
2. %

Liand Mg
Li &0dosw Mg

i
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Na and Be

4 % Na s55508a3 Be

Question Number : 152 Question Id : 813561152 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Isochores are drawn at

DIE WD 356 Ao ediorow

Options :
Constant volume, Pressure vs Temperature

D6 LVVDBITTIBW, SEDI VS &'

Constant pressure. Volume vs Temperature

Eq;;cs BERHAD, DOIHBIT [ Ve a0

Constant temperature. Pressure vs Volume

0 eJ'6s, DEDID VS DOIDBIATHIAD

Constant temperature. Volume vs Temperature

?{gd &g"rj@, 20588778350 Vs ﬁgﬁge_‘a

Question Number : 153 Question Id : 813561153 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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How many lone pairs of electrons are present in a Hydroxyl 1on?

eSS B0IrdS” ) 20088 VT 2ot S ?

Options:
Two pairs
Cok o)

Three pairs
SAT°E) 20LIe

One pair
3 % WS Rob)

Four pairs
Pt 2308320

Question Number : 154 Question Id : 813561154 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The insecticide DDT 15 considered as

DDT &70:%863D ™ HB6BI

Options :
Greenhouse gas

ASTTD Troind)

1. %

Biodegradable pollutant
2D JD) & 20 (L SRS S0
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Non-biodegradable pollutant

v 835 maal@ 2008 E“e_ux:;és“ds::

A fertilizer

4. % OB

Question Number : 155 Question Id : 813561155 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
Geometrical isomerism can be found in which of the following?
£ Jrey3000 S0B O DI TS WRE VDT

Options :
Butyric acid

m&é&ﬁé €500

Aspartic acid
988 e

Palmitic acid

) 638 es030

Cinnamic acid

?aélﬂjé €550
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Question Number : 156 Question Id : 813561156 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Which among the following polymers exlibit hydrogen bonding?

206 TS’ TESD eorren HEByocd FDA6 &?

Options :
Polyvinyl chloride

0D ok

Nvlon-6. 6
Dero-6,6

Neoprene

DBTDD

Tetlon
BT

Question Number : 157 Question Id : 813561157 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Acidity of BF; can be explained on the basis of which of the following concepts?

BF; ahwg), 05y 2087°2¢5° B esrdAnm Dé&sam;smgm?

Options:
Arrhemius concept
287D 2TPDD
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Bronsted Lowry concept

_ EPOVEUD IR

Lewis concept

3 ¢ RATP0) 2T

Bronsted Lowry as well as Lewis concept.

4 % e NG 70 SCOOIN VIOV BTPOR

Question Number : 158 Question Id : 813561158 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

The correct order for wavelengths of abserption in the visible region for the following
complexes will be

S0 ﬁoﬁ@ ‘535)&“5’3"&:5.) tﬁ@’é?gs“o@ FothotS” g @doﬁ@gév 20aA o 267?
Options :

- [Ni(NH3)6]*" < [Ni(H;0)6]*" < [Ni(NO3)e]*"

5 [Ni(NO,)l*™ < [Ni(NH3)6l*" < [Ni(H,0)]%"

3 % [Ni(NH3)g]** < [Ni(NO,)g]*™ < [Ni(H,0)4]**

. [Ni(NO»)gl*™ < [Ni(H,0)4]?" < [Ni(NH3)e1*t
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Question Number : 159 Question Id : 813561159 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Which of the compounds among N,0, NO, N,0;, NO,, N,0,, N,0c are diamagnetic?

NEO, PUIOI NzOg, NOz, Ngo‘h N205 Uéﬁ codr Eﬂ(ﬁ)«ﬁ"gjﬂé Q@Flﬂl Sgﬁ &oé
R 0 A 7
Options :

1 % NO, NO,, N,Oz

> ﬁ:rzg, I‘MFEOE, 1?—2041, JHJZOE
 NO, NO,
3. %

o« N20s, N0

Question Number : 160 Question Id : 813561160 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

BF; is used as a catalyst in several industrial processes due to its

BF; &0 938 FB7208 HIcHs’ B 6sA0m JEeS) o SR

Options:
Strong reducing nature

1 % AlSFeblabbn I fosblTalr] ﬁg@ém
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Weak reducing action
BIDLTRS0DA S.030560 RCPD50

Strong Lewis acid nature

IR0 BTP0NT” €550 “cosar;ﬁma

Weak Lewis acid character

4 % BSTRI0VD LUFOIT 50 DLEPDHD
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